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1 Introduction

This document proposes the Layer 3 protocol to be used for the Cell Broadcast Protocol (CBP).

2 Discussion

In GSM the transport mechanism used between CBC and Base Station Controllers is connection oriented. After a connection had been opened to a BSC, subsequent requests and responses are sent over this connection. This connection could also be used by the BSC to send Indications (for example a Restart Indication) to the CBC. If no connection existed, the BSC was expected to set up a connection to the CBC.  The transport layer used in GSM was X.25.

In UMTS there is no decision what transport layer has to be used for communication between CBC and RNC. The Common Communication Channel is intended to be used for nodes in the Core Network that need to reach every RNC of the UTRAN. However, still an appropriate layer 3 protocol has to be chosen, UDP or TCP.

The protocol for the CBC – RNC communication has to reliable– it must be known if commands arrived on RNC.  Another factor to be considered is that, although the current size of the messages is fixed, in future the size may increase to a considerable length.

Like the Transmission Control Protocol (TCP), UDP uses the Internet Protocol to actually get a data unit (called a datagram) from one computer to another. Unlike TCP, however, UDP does not provide the service of dividing a message into packets (datagrams) and reassembling it at the other end. Specifically, UDP doesn't provide sequencing of the packets that the data arrives in. This means that the application program that uses UDP must be able to make sure that the entire message has arrived and is in the right order. As stated in RFC 768: “Applications requiring ordered reliable delivery of streams of data should use the Transmission Control Protocol”.

UDP advantages

· no additional requirement on protocol stacks to be implemented;

· RNC and CBC do not have to maintain connections – less resources used

UDP drawbacks

· not connection oriented – reliability must be implemented on application level

· limited size of datagrams – packets must be handled on application level

TCP advantages

· reliable

· very common protocol

· no limit to size of requests sent

TCP drawbacks

· protocol stack has to be implemented in RNC

· resources used because connections have to be maintained

Proposal

It is proposed to approve the use of TCP for layer 3 of the Cell Broadcast Protocol
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